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2023 (Annual)
COMMON DISORDERS OF SKIN, HAIR & SCALP

fuffaem: 39 [ATtreRam 376 : 70
Time allowed : 3 Hours] [Maximum Marks : 70

P () FEATE IFEGE S, 994 @ gl vie & I AT |

Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(i) §CIF YI & G 9T K FATR TF a1 & BT |
Solve all parts of a question consecutively together.
(iii) Fed 59 %1 79 G5 8 TR FHiore |
Start each question on fresh page.
(v) @ GTTsT § S 81 %1 1l & S s # A 8 |

Only English version is valid in case of difference in both the languages.

B WW%WW

Answer the following questions :

() =T ST 1 e arel auen <kt AT fafed |

Write the name of pigment that gives colour to hair & skin.

(i) TepeteT T dsheieh! A1 ToTRed |
Write technical name of scabies.

(iti) =Tet < el % T faRad |
Write name of layers of hair.

(iv) Y = % 9 e fafe |

Write two characteristics of healthy skin.

(v) < e famr & T fafed |

Write name of two pigmentation defect. ' (2%5)

5 o < aiEEdT F A R 7 T S aRuedT 3 ST, SRl Ud SUUR SaEd |
What is ageing of skin ? Write characteristics, causes and treatment of ageing of
skin. (2+10)

@ (1 0f2) P.T.O.
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e 1 afer forfia -
Write differentiation between the following :
@) TRAJwERRH
Body lice & Head lice
(i) dci= v @@
Sebaceous gland & Sweat glands
(iii) =HeH wa fafem
Comedone & Milia
ot e wifr feoaforat forfa -
Write short notes on the following :
() wfafEE
Psoriasis
(i) ST AR TR
Hereditary defect of Hair

Thello T SRl R 7 SO0 BN 9Te) E3hAUT % ST o IT=IR foiad |

What is scabies ? Write characteristics & treatment for its infection.

Tt 1 g Td gregyer 1 R S ard & wwEs |
Explain growth & regeneration of hair with the help of diagram.

o= ) gEme

Explain the following :

() weuReE s e
Disorders of sweat glands

(i) e wiufea
Seborrhea capitis

(iii) Tl T STEHT TS BT |

Premature greying of hair

Sefier wforet 7o B # 7 % 9 3 v & o R Refed |

What are sebaceous glands ? Write about disorders of this glands in detail.

b 720

(4x3)

(6+6)
2+10)

(6+6)

(4x3)

(2+10)



